Q0 S I I I IR HK o

QYO RIS ISR IS IS IS ISV ISISINISISISINISINS \{ﬂ\m[J\\[J\\[}\\[?\\(1“{ltx{/\\{J\\(/\\{7\\{/%{1\{/\\[}\\{}\\{7\\{1\{/\\{/\\[}\\{7\\/}\\Q /o)

OOO QANTNINTNINTNINTNTNTNTNTNTNTNTNTNTNTNTNTNINTNTNTNINTNINTNINTNINTNINTNINTNINTNINTNTNTNINTNTNTNINTNINTNINTNINTNINTNINTNINTNTNT NI %O
JZNYZNVZNANTZNZNVZNZNTZNTZNVZNVZNVZNTZNVZNTZNYZNTZNVZNTZNTZNTZNZNNTZNZNZNTZNTZNTZNVZNTZANZNZNTZNTZNTZNTZANTZNVZNTZNTZNTANVZINTZNVZNTZNTZNYZNYZNTZNVZNZNTZNZNTZNVZINTZNTZNVZSVZINTZNTZNTZNTZINY

WAy WA
NN NN
N a XD
ANON NN
N - WA
ANON NN
R w - KD
R - IS0
VWA VWA
NN X
QR - Vv
FZANZANY ONON
KK El'ﬁg KK
QAN - QNN
KK . q94-T= 3 0 B KK
XX Q.P. Code X
NN - - NN
LW NN
NN AN\
»g% . N7\
WA ﬁ'a'
RS 9
S g W’?f&’ﬂ?ﬁ TRA-YA 55[@ Eh—[ 37X E[Fﬁ'lw
ONON
7\
ONON
&% Roll N T 399 ford
%% o 0. |
VWA
XD
25K Candidates must write the Q.P. Code
NON
QAN ¥
KK on the title page of the answer-book.
ONON
X XK
WA WA
€ X0
KR ¢ KK
A\YZ\"74 QAT
NN NN
LW VWA
XD €XD
ZaY7aY ONON
KK KK
)
7N/ A\
X 82
(FOR VISUALLY IMPAIRED CANDIDATES ONLY) R
\y)\\(/ NV
K YRT a5 - 3 vl SHIHaH 37% : 80 7
. . . \
&5 :3 ;80 KX
X XD
R . . R
S llowed : 3 h M, Marks : 80 %
K tme atklloweda . ours axitimum arRrs . KX
JZANYZAN ONON
VAZ ANVZ\"74
0 R :
4 _ 3 l R
Q/}gﬂ ° a; JT sEl a g 2 % QKD
ONON ONON
o ¥ ey # I feu Fre F qhemef F X
K0 J--UA 8|2] MY U4-YA &:IT 3d{- CRY
KX @ KK
WANG ql YA\
NN ‘ﬂ—@" g l })K\ﬁ(j\
V7% 1 Ny
X HYIAT A T AP ymu d 38U 2 | XX
YA L4 QAN
NN NN
KR 1%'-@7" Eh—{%[ -a- tlgﬁ' -ﬁ- KX
s e %'IRIII 094 EEI 3 2]6 3~ 94 <hl EhTI'IT*? 0
KK R
QAT SN
NN NN
e AT | &
NN NN
KK P
LA VWA
K8 e 3E Y- I UG o (¢ 15 Tiee o w9 fom e g | T W faamr o
N (\f/\\

40 wEle § 10.15 S RRE SO | 10.15 99 & 10.30 S A% B %A )
& Y9 1 Te7l 3 30 31afY & A F ITR-YIEdehl T hIs 3T 8 for@ | of

ARNOY RO
VWA WA
FZANT7 AN
&5 e Please check that this question paper contains 23 printed pages. 89
%5 e Q.P. Code given on the right hand side of the question paper should be &%
820 written on the title page of the answer-book by the candidate. 820
N7\ . . . . N7\
¢ e Please check that this question paper contains 38 questions. R
0% . . . . 8
ﬂ e Please write down the serial number of the question in the &
KK SR
% answer-book before attempting it. &%
0 ;) \1<\(/\\
«¥ e 15 minute time has been allotted to read this question paper. The
&% question paper will be distributed at 10.15 a.m. From 10.15 a.m. to  ¥¥
NN . . . NN
& 10.30 a.m., the students will read the question paper only and will not  ¥¥
ONON . . . . NN
KX write any answer on the answer-book during this period. XX
75, \\x(/\x(/\A{/\;[/\)[/\A{/M(/\;ﬂ\Wuzl\ I\ NN\ \NINTNINT NPT NPT TN\ NI\ \NO\ {/\x[/\;[/\)[/\ WINPT\ NI NI NI \NI\NT NN O\ :gvfg

7% 7\){/\\{/\\{/\X{I\\U\\{J\\(}&\{/\x()\\{/\\f/\\{/\\ﬁ\\//\\//\\ﬂ\\[l\sﬂ\){/\\{/\\{/\\[/‘\(/\\()‘\[/\\()\\{/\\(/\\0\\/ INONTNINTNINTNTNTNTNINININTNINTNINTNINTNINTNTNTNTNINTNININONT
%‘)\\(J\x[)\ AINWIWININININININTNT NWINININTNINTNINTNINTNINTNINTNNTNINININT ATNANTNINININTNINTNINT NINTNINTNINTNINTNINTNINININTNINININI N, zvov
[/\\{/\\ﬂ\\{/&y/\y)\\{/w/\x(J\\{)\\ﬂm{/\\{/u{/\\ﬂ\\z/mﬂ\y}\y}\sﬂ\\a\y/\\(/\wuz/\\(/\\{/\\ﬂmﬁu{/\s{/\\ﬂ\\{ ﬂ\\[/b[/\sﬂ\\(/\x{/\\ﬂ\n)\xl/\\(/\\(/\\[/\)[l\Aﬂ‘\(/\\{/\d{/’“{/\){/h(/\\ﬂ\\[l\\{/\\(/\\z)\x(/\\()\\[/\\[/\)(/\\[)\\

30(B) A Page 1 of 23 P.T.0.



EYE
5]

AT 17597 :
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(vii)
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(ix)
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5T 97-97 H FT 38 F97 & | @1 I97 37 & |

T8 Jv7-97 Giel @S] § [FY7fSia 31 T 8-, &, T, T 0T & /
Gue & - Y7 &4 18 18 7% glasedid JHR & o7 a9l o7
&7 19 T 20 35FYT TF 7% FERT Ueh-TUeh 7% & 97 5 /

GUe & - v &IT 21 T 25 7% 37fd TY-IHIT (VSA) JHR & 97 & |
Y% J97 2 37H F 8 |

QUE T - Y97 G&IT 26 T 31 7% Tg-IT0T (SA) IR F J97 8 | IA%
97 3 A HE |

@UE T - I3 &7 32 G 35 a% -390 (LA) JHR & 97 8 | I9%
9T 5 3H FHE |
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eI & TR-91 3P & J97 8 | % FH e 4 ke [dHeq
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J97-99 § GHY [aehcq 787 1397 =7 8 | T4, @8 @ & 2 el 4, @S T
2 o7l 4, @US ¥ & 2 Il 7§ a9 @IS T & 2 Ju1 7 SRk f[dheq HT
I 1397 7 8 | 59 YER & FoH § St T & faehey BT IR 9T /
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1. g 9<I-9-9<! g foEd 83 9 138 sl WM o T HAST: ITHA 5

qA 8 3T %, 3
(a) 13 (b) 65
() 26 (d 39
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper comprises 38 questions. All questions are
compulsory.

(it) This question paper is divided into five sections — A, B, C, D and E.

(iti) In Section A — Questions no. 1 to 18 are Multiple Choice (MCQ)
type Questions and questions no. 19 and 20 are Assertion-Reason
based questions, carrying 1 mark each.

(iv) Section B — Questions No. 21 to 25 are Very Short Answer (VSA)
type questions. Each question carries 2 marks.

(v) Section C - Questions No. 26 to 31 are Short Answer (SA) type
questions. Each question carries 3 marks.

(vi) Section D — Questions No. 32 to 35 are Long Answer (LA) type
questions. Each question carries 5§ marks.

(vit) Section E — Questions No. 36 to 38 are 3 case study based units of
assessment carrying 4 marks each. Internal choice is provided in
2 marks question in each case study.

(viit) There is no overall choice. However, an internal choice has been
provided in 2 questions in Section B, 2 questions in Section C,
2 questions in Section D and 2 questions in Section E. Only one of
the alternatives has to be attempted.

(ix) Takern = % wherever required, if not stated.

(x)  Use of calculators is not allowed.

SECTION A

This section has 20 Multiple Choice Questions. Each question carries
1 mark.

1. The greatest number which divides both 83 and 138, leaving
remainders 5 and 8 respectively, is :
(a) 13 (b) 65

(c) 26 d) 39
30(B) Page 3 of 23 P.T.0.
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2. AR o qAT B TEUE p(x) = 2x°— Tx + 3 % IIH 7, dl o2+ B2 1AM F :

37
(a) 10 (b) Z
23

3. 3fe fgumd sgue p(x) = kx® + 2x + 3k o YAHI B ANTHA 3
%S o 99 8, df k %1 AF & :

2 2

(a) —§ (b) §

3 3
(c) 2 (d) —3

4. THRU I x = aqAT y = b N T@reTi &I HEUd war g, 98 & :

(a) GHX
(b) (b, a) W fa=ad!
(¢c) T

(d) (a,b) W Afd=sd

5. T TG Trfieten o I W ARG Th FHIRT — 3x + Sy =48, dl
O GHIHT Bl Rl B
(a) 6x+ 10y =8
(b) 9x—15y +12=0
() —9x+ 15y =—12
(d -6x-10y=38

6. fg Tl 2x?— 5x + (L —4) = 0 1 T g G A I oA 7,

T AR AE B
(a) b (b) 4
(c) 6 (d) 8
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2. If o and B are the zeroes of the polynomial p(x) = 2x%_ Tx + 3,
then the value of o2 + B2 is :

37
(a) 10 (b) Z
23

3. Ifthe sum of the zeroes of the quadratic polynomial

p(x) = kx%+ 2x + 3k is equal to the product of its zeroes, then
the value of k is :

2 2
(a) — § (b) §

3 3
(c) E d - 5

4. The pair of equations x = a and y = b represent the lines which
are :

(a) parallel
(b) intersecting at (b, a)
(c) coincident
(d) intersecting at (a, b)
5. If one equation of a pair of dependent equations is
— 3x + 5y = 4, then the second equation can be :
(a) 6x+ 10y =38
(b) 9x-15y+12=0
(¢) —-9x+ 15y=-12
(d -6x-10y=38
6. If one root of the equation 2x2 — 5x + (L — 4) = 0 be the
reciprocal of the other, then the value of A is :

(a) 5 (b) 4
(¢c) 6 (d 8

30(B) Page 5 of 23 P.T.0.
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EYE

T guft —11, — 8, — 5, . .., 49 & 3Afaw g & (YW Yg H 3N)
N7 IS B

(a) 40 (b) 37

(¢c) 43 (d) 58
aﬁwﬁaﬁ%wﬁmmz 42 cm qAT 35 cm & Iaﬁ%@ﬁ‘ﬂﬁ
1 Teh YT I @18 12 cm @, A1 R BYS 3t |97a Yo h1 TS @
(a) Hcem (b) 7-5cm

(c) 8cm (d) 10 cm

T A PQR i 4iadi PQ 991 PR W sh#w: fag E @ F & | A
EF ||l QR, PE=4cm, QE=3cm ds EF =4 cm &, @ QR &
NEIEESE

(a) 3cm (b) 4cm

() 7cm (d) 6cm

I 5 cm BSAT a1 g9 W TRE SR foag @ WER 60° W g q
T93f-TETd Wit E E, O Ui TaRi-lEn hl I B

(a) % cm (b) 10 cm
(¢) % cm (d 543 em
4sin A —-2cos A
A tan A= % R 4sin A +2cos A FAAE :
1
(a) 5 (b) g
1
(C) 6 (d) g
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The 4th term from the end of an AP —-11, -8, -5, . . ., 49
is :

(a) 40 (b) 37
(c) 43 (d) 58

The perimeters of two similar triangles are 42 cm and 35 cm

respectively. If one side of the first triangle is 12 c¢cm, then the
corresponding side of the second triangle is :

(a) bHcm (b) 7-5cm
(¢c) 8cm (d) 10 cm

E and F are points on the sides PQ and PR respectively of a

A PQR. IfEF ||QR and PE = 4 cm, QE = 3 cm and EF = 4 cm,
then the length of QR is :

(a) 3cm (b) 4cm
() Tcm (d) 6cm
If two tangents inclined at an angle of 60° are drawn to a circle

of radius 5 cm from an external point, then the length of each
tangent is equal to :

(a) %cm (b) 10 cm
(¢) % cm (d 543 em

4sin A —2cos A s -
4sin A +2cos A

Iftan A = %, then the value of

(a) 5 (b)

D= U=

(¢c) 6 (d)

Page 7 of 23 P.T.O.
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Ifd 2 sin 2A =+/3,8, A L ASUH 2 :

(a) 60° (b) 4b°

(¢) 90° (d) 30°

I8 9T TR Tk Uk et o smur h 3R &faw fesm § 20 m =

W, 35h TIET 1 IFIT 0 30° B §¢A HL 60° & rar g | Fawmt i
S B

(a) 2043 m (b) 10-/3 m
202 20
(c) S m (d) 7 m

16 cm <A1 A1 T 99 I 18-5 cm T« =W gRI e TN BHor@vs
I STHA B

(a) 168 cm? (b) 148 cm?

(¢) 154 cm?2 (d) 176 cm?2

T NS H 1 cm AR o A & &1 8 | 39 ek hl
A BT 5 cm B | 390 TR T ol A (cm3H) 8 :

(a) 182 (b) 1§§-n
682 364
(C) ? (L (d) T T

Teh SRENAl S o HIET d9T HIETh ShAY : 43 TAT 43-4 3 | 39 ded
E §|§Q_"|EF % :

(a) 434 (b) 424

(¢) 442 (d) 493

30(B) Page 8 of 23
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If 2 sin 2A =/3, then £ A is equal to :
(a) 60° (b) 45°
(¢c) 90° (d) 30°

It is found that on walking 20 m towards a chimney in a
horizontal line through its base, the elevation of its top
changes from 30° to 60°. The height of the chimney is :

(a) 2043 m (b) 10+/3 m
202 20
(c) —3 m (d) 7 m

The area of a sector of a circle of radius 16 cm cut off by an arc
of length 18-5 cm is :

(a) 168 cm2 (b) 148 cm?2
(¢) 154 cm?2 (d) 176 cm2

A hemispherical bowl is made of steel of thickness 1 cm. The

inner radius of the bowl is 5 em. The volume of steel used

(in cm3) is :
(@) 182 (b) % .

The mean and median of a frequency distribution are 43 and

43-4 respectively. The mode is :
(a) 434 (b) 424
(c) 442 (d 493
Page 9 of 23 P.T.0.
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Q%a@mﬂﬁmﬁﬁqaﬁﬁmﬁrﬁwam%@mn@ﬁﬁ
EIT&IEb—cIT%:

1 2
3 4
TEIAT 1, 2, 3,4,...,25 1 9 AgeoA I TG Th GCAT h Th
YT G&IT g1 hl TR = :
8 10
(a) % (b) %
11 9
(C) % (d) %

77 G&IT 19 77 20 ¥ 1078, 31 FI7 0 10 & — fG7H v F 7yEeT (A)

TI G H T (R) GRT 37fa 37 7 & | 37 F94] & & IR A4 177 T
#18l (a), (b), (c) 3K (d) T & g7 T |

19.

20.

30(B)

(a) RHeH (A) 3R @ (R) gHT @&l 7 3R a0 (R), AheA (A)
1 T AT AT B |

(b) AR (A) 3R T (R) T T& &, g b (R), M
(A) h H&l AT 7@ HAT B |

(c) 3AHI (A) H&l g q1 d%h (R) T9d 2 |

(d) 3fReE (A) T9d & 991 @ (R) 96T 7 |

SFHYT (A): Th I o fordll =@ o R w Gt 18 wowi-@n

TER FHIA B B |

% (R) : I ! TR, w91 fog W s % dwed gl @ |

3BT (A) : 4 cm Yo 1A Q¥4 & RRI Bl fireteR s9 Ty
TS &%a 160 cm? B |

7% (R) : fameti I x b x h & UTH =AY H TS &%
(Ib + bh + hl) BT |
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17. The probability that a leap year selected at random will
contain 53 Sundays and 53 Mondays, is :
1 2
- b) =2
(a) 7 (b) 7
3 4
c — d =
(c) = (d) =
18. The probability for a randomly selected number out of
1,2,3,4,...,25to be a prime number is :
8 10
o b)
(a) % (b) o5
11 9
il d =
(c) 5% (d) oF
For Questions number 19 and 20, two statements are given — one

labelled as Assertion (A) and the other labelled as Reason (R). Select the
correct answer to these questions from the codes (a), (b), (c) and (d) as
given below.

19.

20.

(a) Both Assertion (A) and Reason (R) are true and Reason
(R) is the correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason
(R) is not the correct explanation of the Assertion (A).

(¢) Assertion (A) is true and Reason (R) is false.
(d) Assertion (A) is false and Reason (R) is true.

Assertion (A) : The tangents drawn at the end points of a
diameter of the circle are parallel to each
other.

Reason (R):  The tangent to a circle is perpendicular to the
radius at the point of contact.

Assertion (A) : The surface area of the cuboid formed by
joining two cubes of sides 4 ¢cm each, end to
end, is 160 cm?2,

Reason (R) : Surface area of a cuboid of dimensions / x b x h
is (Ib + bh + hl)

30(B) Page 11 of 23 P.T.0.
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Qs @

37 GV ¥ 37faq Tg-IF0T (VSA) TR & 97 8 | % o7 2 37 H7 8 |

21. A9SY TOHEUS AT § 84, 90 a1 120 w1 HCF =1 LCM @

HT |

22. G p A q, fgad 989G fix) = 6x2 + x — 2 % YIH @, dl

1 + 1 —pqwrﬂqiﬂﬁﬁﬁml
P

o)

23. (%) 3 fog P (3, -3), fgall A (4, 9) TN B (-9, k) & THEY 7,

@ k & °H AT HIFT |

HAYAT

(@) 9% UM 1 i, Sew y-318 gt (5, - 6) den (-1, - 4)
I A a1t {@rave Hi fauiia st @ | 98 giiesed fog off

JTd <hifaT |
24, IEtan A=17dAMtan B= /3 B, d@ cos A cos B + sin A sin B
& HH JTd hIFT |
25. (%) fag FHifvw .
w = (cot O — cosec 0)2
1+ cosH
CEI
(@) foag il :
tan A cot A

= 1+ sec A cosec A

1—cot A * 1—tan A

30(B) Page 12 of 23
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SECTION B

This section comprises Very Short Answer (VSA) type questions.
Each question carries 2 marks.

21.

22,

23.

24.

25.

30(B)

Find the HCF and LCM of 84, 90 and 120 by prime
factorization method.

If p and q are the zeroes of the quadratic polynomial

f(x) = 6x2 + x — 2, then find the value of 1 + 1_ Pq.

(a)

(b)

p q

If the point P (3, — 3) is equidistant from the points
A (4,9) and B (- 9, k), find the value(s) of k.

OR

Find the ratio in which the y-axis divides the line
segment joining the points (5, — 6) and (- 1, — 4). Also,
find the point of intersection.

Iftan A = 1 and tan B = +/3, then evaluate ;

(a)

(b)

cos A cos B + sin A sin B.

Prove that

1—cos6

= (cot O — cosec 9)2
1+ cosH

OR

Prove that

tan A N cot A
l1—-cotA 1—tan A

Page 13 of 23 P.T.O.
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Qs 1

3G GUS § TY-IT17 (SA) YR & 97 3 | J9% J97 3 371 #71 5 |

fog AT fop V5 wh sy g 2 |

26.

27.

28.

29.

30.

30(B)

T 9@ 10 T H 9T % Uidhd 30 km AT U o IFqEA 44 km
STt 2 | 13 "¢ H 98 40 km 9T % Uidka ddm 55 km €W %
ITIRA A & | FRR I # 71 h1 =1 3R G hl =7 [ I |

ABCD U 99ds g 580 AB || DC 2 991 389 et AC 921 BD
TR O Tl w0 § | awig s 08 - 9C

()

OB OD

T IS ABC &1 ¢ AB 3R BC a1 H1fedehl AD T 31
s PQR <1 A9 qorsli PQ 3R QR o HIfedw1 PM
FUTIT 2 | g9se b A ABC ~ A PQR.

HAYAT

g Hivm o w frgs & yoneti & wed fagadl o aH 8
54 oft IR Byel # 9 g 7 s o ¥9EY B & |

20 m ST 9Tl Teh TR ITH o A & Teh A & Th UG I
6 m el WEHl | =1y fean T 7 | ARG W B 5.5 m AR Al
ST R T SMU, 91 9 % HGH o &FA%d H dlg A ehiNT,
8l HTgl =X & |

HAYAT
14 cm BS31 916l T I ohl Teh SGT shg T GHIU TANA
Ll & | Y IT@US h1 AR 1A HIT |
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SECTION C

This section comprises Short Answer (SA) type questions. Each
question carries 3 marks.

26.

27.

28.

29.

30.

Prove that /5 is an irrational number.

A boat goes 30 km upstream and 44 km downstream in
10 hours. It goes 40 km upstream and 55 km downstream in
13 hours. Find the speed of the boat in still water and that of

the stream.

ABCD is a trapezium in which AB |[DC and its diagonals AC

and BD intersect at O. Show that % = %
OB OD

(a) Sides AB and BC and the median AD of a triangle ABC
are respectively proportional to the sides PQ and QR and
the median PM of A PQR. Show that A ABC ~ A PQR.

OR
(b) Prove that each of the four triangles formed by joining

the mid-points of the sides of a triangle are similar to the
original triangle.

(a) A horse is tied with a rope of length 6 m at the corner of a
square grassy lawn of side 20 m. If the length of the rope

is increased by 5-5 m, find the increase in area of the
lawn in which the horse can graze.

OR

(b) A chord of a circle of radius 14 cm makes a right angle at
the centre of the circle. Find the area of the minor

segment.

30(B) Page 15 of 23 P.T.0.
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31. o9 i fu=mi = ww a1y 3o = | Fefafaad % s f milReean
ﬁﬁﬁﬁm:
(1) 0 & 1 T T (11) Afrepan g o=

Qs v

59 GV § -3 (LA) IR & T34 & | Jcd% G975 3H #1 & |

32. (%) Fm=faRga arfieu =t x & fow ga HifS .
—4+1)+2+...+x=437

HAYAT

(@) U FHIR Avit (AP) % YW n UGl 1 I 5n2 + 3n ® | AfC
36T ndl Ug 168 &, A n HTd hIC | g8l 20aT ug ot F1d
HIT |

33. (%) fug Hifvw A o & afor s =@y 6l g yod g ®

HYLeh HI0T AANT Ll 7 |

AYAT

(@) fag SIS for b mar foig & o0 o Efi= 18 el W@ derE §
HHH Bl 2 |

34. Th AW H YU & Tk fodg T IFAT 01 45° H1 2 | 15 G Hl
3SH o W1 Ig IAAT P 30° B A 7 | G IFAE 3000 m
fooR F918 W 3T W1 8, A aFH i I (kmvh) § TG I |
(+/3 =1.732 <ifom)
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31. Three different coins are tossed simultaneously. Find the

probability of getting :
(1) At least one head, (ii) At most two heads.

SECTION D

This section comprises Long Answer (LA) type questions. Each
question carries 5 marks.

32. (a) Solvetheequationforx:—4+(-1)+2+...+x=43"7.
OR

(b) The sum of first n terms of an AP is 5n2 + 3n. If its nth
term is 168, find n. Also, find the 20th term of the AP.

33. (a) Prove that opposite sides of a quadrilateral
circumscribing a circle subtend supplementary angles at

the centre of the circle.
OR
(b) Prove that the lengths of the tangents drawn from an

external point to a circle are equal.

34. The angle of elevation of an aeroplane from a point on the
ground is 45°. After a flight of 15 seconds, the elevation
changes to 30°. If the aeroplane is flying at a constant height of
3000 meters, find the speed of the aeroplane in km/h.

[Take +/3 = 1.732]

30(B) Page 17 of 23 P.T.0.
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35. fr=fcfigd IRERAT S 1 e 91 H1eeh JTd hify

1 FRETRAT
11-13 7
13-15 6
15— 17 9
17 - 19 13
19 - 21 20
21-23 5
23 - 25 4

WE T

3G GUS 4 3 YR 37eJIT JTERT G978 | Jcdh G974 bl F1 & /

Th{0T 3ega4 - 1

36. U IMSAEH H, Hid uftral qom Tavi § sIafed <hl il 8 | 3T
H Yo itk H Hiel i T&AT URh3Tl hl ol H&A1 o T 7 |
9o qfehdl ohl H&AT g R @ STl @ q91 Tk dith | Hiel shi s
10 =1 < ATt 8, @ ot €2l S @ A 300 5 I 7 |
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35. Find the mean and the median for the following frequency

distribution :
Class Frequency
11-13 7
13-15 6
15 - 17 9
17-19 13
19-21 20
21-23 5
23 - 25 4

SECTION E

In this section, there are 3 case study based questions of 4 marks
each.

Case Study -1

36. In an auditorium, seats are arranged in rows and columns.
The number of rows are equal to the number of seats in each
row in the beginning. When the number of rows are doubled
and the number of seats in each row is reduced by 10, the total

number of seats increases by 300.
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3uYh o MR W, fefofigd Al o 3w e
(%) W H IRRAT hl T&AT x WL, SUYH efd i fgema awie

g s i | 1
(@) 9o =vae | feha afral & ? 1
AT
Iy 4 Sffeefm | fohat #e § 2
(1) STIEYT Fg o 91g AMSTEH § fohat €ie 2 2 2

ThIT JAeTAA - 2

37. Gug hl e, YIS faemad & ==l o1 Tk &I 9 & |
e § o ghe uReEl o wrdl § w2 B & o e
e s 2 |

ueh faeme™ 4, 200 foeneff € St @t gag 1 WA & fofw 10 ufwet
H @2 gid & | =) foanef A, B, C a1 D ©IHl W @e & 58 A (3, 4),
B (6,7), C (9, 4) @ D (6, 1) ficemes faeerr &t feafaar 2

I9YE h IR W, T T o I AT

(%) A Ta1 B % o= i gl F@ AN | 1

(@) C M D < &= i g [ HIf | 1

(71) gisY foh ABCD e THI IqY s & | 2
T

() Y@rEvei AC a1 BD % A&y fog 3 Hif | 2
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Based on the above, answer the following questions :

(a)

(b)

(c)

Taking x as the number of rows in the beginning,
represent the above situation by a quadratic equation.

(i) How many rows are there in the original
arrangement ?

OR

(i1) How many seats are there in the auditorium in the
beginning ?

How many seats are there in the auditorium after
re-arrangement ?

Case Study - 2

Morning assembly is an integral part of every school’s

schedule. In the assembly, students always stand in rows and

columns and this makes a coordinate system.

In a school, there are 200 students and they all assemble for

prayer in 10 rows. 4 students are at A, B, C and D with the

following positions of the coordinate system :

A@3,4),B(6,7),C(9,4)and D (6, 1).

Based on the above, answer the following questions :

(a)
(b)
(c)

(c)

Find the distance between A and B.
Find the distance between C and D.

Show that ABCD forms a parallelogram.
OR

Find the mid-point of the line segments AC and BD.
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ThI0T AEFAT - 3

38. P Ao H Iohgll @l ¢ @H o U I JeW TR A Fr=faiRaa
g feu

Tdeh ¢ T IMUR d-ThR 8 fEeh! 5sar 21 m dem 3918 5 m
BT qAT Ik S AR W shl ST 20 m BN | SR 9T |
H%he T T HIZT HYST T [SHeh! AT T 60 Ufd o7 H. 8, Sefh
YRR AT H PVC § Gl g1 It U1 1 el arnm el
T 70 9fd m2 7 |

39 AT o YR R, Frfafed wet % s G

(%) PVC aran et #ust fhaT (sq m o) T q91 39eh! FHeA AT
1 B ?

(@) ®%g TT HT HIST fhaT (sq m H) TN qAT 3TH FoA AN
fopaft gt 2
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Case Study - 3

For the Kumbh Mela, Uttar Pradesh Government prescribed
the following for the contractors to pitch the tents.

Each tent must be of cylindrical base of radius 21 m and height
5 m, surmounted by a conical part of height 20 m. The
cylindrical part must have a while coloured thick fabric costing
T 60 per square meter, while the conical part must have PVC
coated blue fabric costing ¥ 70 per square meter.

Based on the above information, answer the following

questions :

(a) How much blue PVC (in sq.m) is required and what will
be its total cost ?

(b) How much white fabric (in sq.m) is required and what
will be its total cost ?
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